DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
QUALIFYING EXAMINATION (2021-2022)

Class:- X Subject:- English
Time- 3 Hrs. M.M.-80

General Instructions:-

e The paper consists of 2 parts ( Part-A and B)

e All questions are compulsory.

e Separate instructions are given with each section and question, wherever necessary. Read these
instructions very carefully and follow them.

o Do not exceed the prescribed word-limit while answering the questions.

PART-A [40 Marks]

1. Read the passage given below and answer the questions that follow: (10 Marks)

1.
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| was the last child of a small-time government servant, in a family of five brothers. My very
earliest memory of my father is as that of a district employment officer in Koraput, Orissa. It was
and remains as back of beyond as you can imagine. There was no electricity; no primary school
nearby and water did not flow out of a tap. As a result, | did not go to school until the age of
eight; I was home-schooled.

My father used to get transferred every year. The family belongings fit into the back of a jeep, so
the family moved from place to place; without any trouble, my mother would set up an
establishment and get us going. Raised by a widow who had come as refugee from Bangladesh,
she was matriculate when she married my father. My parents set the foundation of my life and the
value system which makes me what | am today and largely defines what success means to me.

My father had been given a jeep by the government. There was no garage in the office, so the jeep
was parked in our house. My father refused to use it to commute to the office.He told us that the
jeep was an expensive resource given by the government; it was not ‘his jeep’ but the
government’s insisting that he would use it only to tour the interiors, he would walk to his office
on normal days. He also made sure that we sat in the jeep only when it was stationary.

That was our early childhood lesson in governance, a lesson that corporate managers learn the
hard way. Indeed, some never do.

The jeep’s driver was treated with respect due to any other member of my father’s office. As
small children, we were taught not to call him by his name.We had to use the suffix ‘dada’
whenever we were to refer to him in public or in private. When | grew up to own a car and a
driver by the name of Raju was appointed. | repeated the lesson to my two small daughters. They
have, as a result, grown up to call Raju, ‘Raju Uncle’- very different from many of their friends
who refer to their family drivers as ‘my driver’.

When | hear that term from a school or college going person, | cringe. To me, the lesson was
significant. You treat small people with more respect than big people. It is more important to
respect your subordinates than your superiors.



1.1. On the basis of your reading of the passage, answer any ten of the

following questions. (1x10=10)

(a) The narrator did not go to school until the age of eight because:

Q) There was no electricity in the village.

(i) There was no primary school nearby his home.

(iii)  Water did not flow out of a tap.

(iv)  All of these.
(b) The narrator’s family moved from place to place every year because:

(1 They did not get as good school as he desires.

(i)  They did not get as good home as he desired.

(iii)  Of lack of drinking water.

(iv)  His father used to get transferred every year.
(c) The narrator’s mother originally belonged to :

(1 Odisha
(i) Bangladesh
(iii)  Manipur

(iv)  Rajasthan
(d) The narrator’s father parked the jeep of his office in his own house as:
() He has too much spare space in his house.
(i) It was the order of his senior.
(iii)  He needed that car even in his house.
(iv)  There was no garage in his office.
(e) According to the narrator’s father, the jeep given by government is:
Q) A luxurious resource.
(i)  Acheap resource.
(iii)  Cause for dullness
(iv)  Anexpensive resource.
(f) The narrator sat in the jeep only when:
Q) He had to go far away place.
(i) He had to go to interiors.
(iii)  The jeep was serviced.
(iv)  All of these.
(9) “As small children, we were taught not to call him by his name.” here his name refers to:

Q) the narrator’s name
(i1) the narrator’s father’s name
(iii)  the narrator’s teacher’s name
(iv)  the driver of the narrator’s father
(h) The narrator taught his daughters to call his driver:
(N by his name
(i) not by his name
(iii)  mydriver

(iv)  my papa’s driver
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(1) The narrator learnt a lesson that:
Q) big people should be treated with more respect than small people.
(i)  small people should be treated with more respect than big people.
(iii)  both (i) and (ii)
(iv)  neither (i) nor (ii)

(J) The narrator’s daughters call the driver of the narrator:
Q) Raju
(i) Raju uncle
(iif)  Both (i) and (ii)
(iv)  Neither (i) nor (ii)
(K) In paragraph 2, the word which means ‘to pass out from high school’ is:
Q) Bend
(i) Respect
(iii)  Matriculate
(iv)  Initiative
() The antonym of ‘economical’ as given in para 3 is:
Q) Normal
(i) Stationary
(iii)  Expensive
(iv)  Insisting

2. Read the passage given below and answer the questions that follow: (10 marks)

1. [Inflation refers to the rise in prices of most goods and services of daily or common use, such as
food, clothing, housing, recreation, transport etc. Inflation measures the average price change in a
basket of commodities and services over time. The opposite and rare fall in the price index of this
basket of items is called ‘deflation.” Inflation is indicative of the decrease in the purchasing power
of'a unit of a country’s currency. This is measured in percentage.
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The purchasing power of a currency unit decreases as the commodities and services get dearer.
This impacts the cost of living in a country. When inflation is high, the cost of living gets higher
as well, which ultimately causes deceleration in economic growth. A certain level of inflation is
required in the economy to ensure that expenditure is promoted and hoarding money through
savings is demotivated.

Generally, money loses its value over time, so people must invest money to ensure the economic
growth of a country.

Inflation is measured by two main indices in India — WPI(Wholesale Price Index) and CPI
(Consumer Price Index), with which Indian measure wholesale and retail level price changes,
respectively. The CPI calculates the difference in the price of commodities and services such as
food, medical care, education, electronics etc. which Indian consumers buy for use. WPI
calculates the goods or services sold by businesses for selling further.

Some main reasons for the increase in prices — high demand and local production or supply of
multiple commodities create a demand-supply gap, which causes a hike in prices. Moreover,
excess circulation of money causes inflation as money loses its purchasing power. Apart from
this, the people having much money tend to spend more which causes increased demand and hike
in prices.

Inflation exists when money supply exceeds available goods and service or inflation is attributed
to budget deficit financing.

2.2. On the basis of your reading of the passage, answer any ten of the following
questions. (1x10=10)

(a)

(b)

(©)
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what does the inflation refer to?

Q) rise in the prices of goods.
(i) rise in the prices of services.
(i) Both (i) and (ii)

(v) Neither (i) nor (ii)

The inflation is measured in:

Q) points

(i) percentage

(iii)  units

(iv)  per thousand

As per the graph, the highest inflation rate was in the year.
(i) 2012
(i) 2014
(i) 2018
(v) 2019



(d)

(€)

(M

(9)

(h)

(i)
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In our country, what is the inflation measured by?
Q) Wholesale Price Index

(1) Consumer Price Index

(iiiy  Both (i) and (ii)

(iv)  Neither (i) nor (ii)

What happens when the inflation gets higher?

Q) the income of people gets higher

(i) the cost of things remain intact

(iif)  the cost of things gets lower.

(iv)  the cost of things gets higher

Why do you think a certain level of inflation is required?
() It ensures that expenditure is promoted.

(i) It ensures the economic growth of a country
(iiiy  Both (i) and (ii)

(iv)  Neither (i) nor (ii)

Why do you think people must invest money?

Q) Generally money loses its value over time.
(i)  to ensure the economic growth of a country
(i) Both (i) and (ii)

(iv)  Neither (i) nor (i)

As per the graph, what was the inflation rate in 2018 in our country?

() 3.6%
(i) 4.74%
(i) 4.5%

(V)  4.89%

Why does excess circulation of money causes inflation?
(N money loses its value

(i) money increases its purchasing power

(iii)  money loses its purchasing power

(V) all of these



()] According to the graph, what was the inflation rate in 2015 in our country?
(i) 5.8%
(i)  4.5%
(i)  3.6%
(iv)  4.9%
(K) What was the inflation rate, according to the graph, in our country in 2014?
(i) 9.4%
(i) 5.8%
(i) 4.9%
(iv) 6.9%
M What is/are the main factor(s) that cause a hike in prices?
Q) high demand and poor production of supply
(i) low demand and high production of supply
(iii)  high demand and high production of supply
(iv)  low demand and low production of supply
Literature (10 Marks)

3. Read the extracts given below and answer the questions that follow.[5x1=5]
It was during the meal that, just as Lencho had predicted, big drops of rain began to fall. In the
north-east huge mountains of clouds could be seen approaching. The air was fresh and sweet.
The man went out for no other reason than to have the pleasure of feeling the rain on his body,
and when he returned he exclaimed, “These aren’t raindrops falling from the sky, they are
new coins. The big drops are ten cent pieces and the little ones are fives.”

Questions:

@ During the meal:
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Q) big drops of snow began to fall
(i) big drops of rain beganto fall
(iii)  thick fog covered the landscape

(V) it started drizzling



(b)

(©) The cause of Lencho’s happiness is:
(1 the rainfall
(i)  the meal
(iii)  mountains
(iv)  his house
(d) What are clouds compared with?
() Big drops of rains
(i) Simple rain drops
(iii)  Hailstones
(iv)  Mountains
(e) Give the adjective form of ‘pleasure’.
Q) Pleasing
(i) Pleasant
(iii)  Please
(iv)  Pleased
do about inherited traits.
Questions:
@) What is the main feature of an essay according to Anne?
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According to Lencho, the big drops of rain are:
Q) nothing

(i) five cent pieces

(iii)  harmful

(iv)  ten cent pieces

That evening, after | had finished the rest of my homework, the note about the essay caught
my eye. | began thinking about the subject while chewing the tip of my fountain pen. Anyone
could ramble on and leave big spaces between the words, but the trick was to come up with
convincing arguments to prove the necessity of talking. I thought and thought, and suddenly |
had an idea: | wrote the three pages Mr Keesing had assigned me and was satisfied. | argued
that talking is a student’s trait and that I would do my best to keep it under control, but that |
would do my best to keep it under control, but that | would never be able to cure myself of the
habit since my mother talked as much as I did if not more, and that there’s not much you can

(N to explain the given topic

(i) to give convincing arguments
(i) both above

(V) None of the above



(b) What did Anne argue in the essay
Q) talking was a student’s trait
(1) she got it from her mother
(iii)  nothing could be done about this inherited trait
(iv)  all above
(©) What does the idiom ‘caught my eye’ mean?
(1 repulsive
(i)  divert attention
(i) attract attention
(iv)  none of the above
(d) What do you understand by inherited traits?
() particular quality of one’s personality which one inherits from parents
(i) characters or qualities that are transmitted from parent to offspring by coded cytologic
data
(iii)  both above
(iv)  None of the above

(e) Find the antonym of ‘usualness’ from the passage?

Q) trait
(i) inherit
(iii)  control

(iv)  None above
4. Read the stanza given below and answer the questions that follow: [5x1=5]
He stalks in his vivid stripes
The few steps of his cage
On pads of velvet quiet,
In his quiet rage.
Questions:

@) The tiger moves around in the:

(N Z00
(i) cage
(i) forest
(iv)  park
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(b) The tiger is able to take only a few steps because:
Q) the forest is too small
(i)  the cage is too small
(iii)  the park is too small
(iv)  the zoo is too small

() One cannot hear the sound of tiger’s footsteps because:
(1 he has very soft feet like velvet
(i) he was unable to move anywhere
(iii)  he was moving in the cage
(iv)  no one goes near him

(d) The tiger is angry because:
() he is not given care
(i) he is hungry
(iii)  he is not free
(iv)  none of these

(e) The tiger tries to control his anger by:
Q) sitting in the cage
(i) closing his eyes
(iii)  looking at the spectators
(iv)  quietly walking in the cage

OR
The way a crow
Shook down on me
The Dust of Snow
From a hemlock Tree
Questions:

(@)  Where was the crow sitting?
(N snow-laden roof
(i) on the branch of a palm tree
(i) onthe branch of a hemlock tree

(iv)  snow-laden lamp-post
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(b) What does the hemlock tree signify?
Q) death and fear
(1) life and enthusiasm
(iii)  positive aspects of life
(iv)  None of these
() How has the dust of snow affected the poet?
(1 changed his mood
(i)  he was gladdened
(iii)  both above
(iv)  none of the above
(d) What is meant by ‘The Dust of Snow’?
() dust covered with snow
(i) dust which looks like snow
(iii)  flakes of snow
(iv)  none of these
(e) Who has penned the above line?
Q) Robert Brown
(i) Robert Frost
(iii)  William Shakespeare
(iv)  William Wordsworth

Grammar (10 Marks)

5. Choose the correct answers from the options given below. (Attempt any

three). [1x3=3]
@) It seems that they would need workers for the construction.

(i) little

(i) either

(iii))  more

(iv)  some

10|Page



(b) man that we saw turned out to be a thief.

(i) A
(i) The
(iii)  That
(iv)  This
(© Can help me?
Q) many
(i) nobody

(iii)  everybody
(iv)  anybody

(d) He should work and take a break.
(0 less
(i) little
(iii)  alittle
(iv)  more

6. Choose the correct answer from the options given below. (Attempt any

four) [1x4=4]
@) Thereis ................ Post office in this area.
Q) some
(i) no
(iii)  any
(iv) few
(b) Thereis ............... sugar in the pot.
Q) some
(i) any
(ii)  little
(iv) few
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(©) How ........... kgs of sugar do you want?

Q) much
(i) many
(i)  some
(iv) little
(d) Had you worked hard, you ............... have won a scholarship.
Q) may
(i)  would
(i)  might
(iv) can
(e We .o obey the law of our country. (obligation)
Q) must
(i)  should
(iii)  may
(iv)  might
7. Choose the correct answer from the option given below.
(Attempt any 3) [1x3=3]
€)) Heoften ............... his purse.

Q) is forgotten
(i)  will forget

(iii)  forgets
(iv)  was forgotten
(b) When the bell rings, the students .................... to their classroom.
() go
(i) are going

(iii)  will be going
(iv)  willgo
(© Neither Anushka nor Shreya ............... present in the office yesterday.

(N have been

(i)  were
(i) are
(iv)  was
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(d) Early to bed and early to rise ............... a man healthy, wealthy and wise.
(0 make
(i)  makes
(ii)  have made

(iv)  are making

Part — B [40 Marks]

8. Write an Analytical Paragraph based on the Pie Charts showing the
percentage growth in different sectors in India from the year 2021 to
2020.(Word limit 100-120) [5]

Growth 2010 Growth 2020

OR

The chart below shows the expenditure of two countries X and Y on consumer goods in
2020 in US million dollars.

Summarise and write and analytical paragraph highlighting main features and
necessary details in 100-120 words. Compare where relevant.
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9. You are Hemant/Himakshi. Write a letter to the Editor of The Herald, New
Delhi expressing your anguish over the problems faced by people due to illicit
liquor and the deadly chemicals like anthrax.

(Word-limit-100-120) [5]
OR
You are Subhash Pandit, a resident of Rainawari in Srinagar. The stone-pelting
youths, students and regular incidents of arson, sabotage and violence in the
Valley, have once again brought the issue of national integration in the forefront
of national politics. Write a letter to the Editor of TOI suggesting ways and
means to bring peace and tranquillity in the Valley.
Literature [30 Marks]
10. Answer any two questions in 20-30 words each, from [A] and [B]
respectively. [4x2=8]
[A] (any two) [2x2=4]
() “The sight of the food maddened him...” What does this suggest? What compelled
the young seagull to finally fly?
(i) “And stares with his brilliant eyes.....at the brilliant stars.” Why are the eyes brilliant?
What is common between the eyes and the stars?
(iii)  What is the central idea of the poem “Fire and Ice”?
[B] (any _two) [2x2=4]
Q) Describe Hari Singh’s dilemma at the station. Why didn’t he jump into a compartment
of the Lucknow Express when he could?
(i) Do you think Tricky was enjoying his stay at the hospital?
(iii)  What made James Harriot expect a call from Mrs Pumphrey?
11. Attempt ANY TWO questions in 40-50 words each, from [A] and
[B]respectively. [4x3=12]
[A] (any_two)
0] What was Mr Keesing’s reaction after reading Anne’s poem on the third essay that he
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had given to her to write?
(i)  What risk did the narrator of “The Black Aeroplane” take while flying?
Describe the feelings.

(i) Could everyone fulfil the obligations personal or social in South Africa?



[B] (any two)

12.

13.

15|Page

Q) Was Tricky suffering from any ailment in reality? If not, then what made him inactive
and lethargic?
(i) Had Anil really forgiven Hari Singh? Support your answer with evidence.

(i)  Why was it difficult for Hari to rob Anil?

Answer ANY ONE of the following in 100-120 words. [5]
[A]  The narrator had two options of avoiding the terrible storm clouds. Why didn’t he
use them? Was his decision of flying straight into storm clouds a sound decision?

Give a reasoned answer.

OR
[B]  “Paper has more patience than people”. Do you agree with the statement?
Answer ANY ONE of the following in 100-120 words. [5]

[A]  “Excess of everything is bad. Comment in the wake of Mrs Pumphrey’s love for
Tricki.
OR

[B] Money can’t make a man as much as education can. Elucidate the statement with

reference to “A Thief’s Story”.

k*khkkkkkkkkkikkkkkk



DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
QUALIFYING EXAMINATION (2021-2022)

Class:-X Subject:- Mathematics
Time- 3 Hrs. M.M.-80

General Instructions:

1. This question paper contains two parts A and B.
2. Both Part A and Part B have internal choices.
Part - A:
1. It consists of two sections- I and II.
2. Section I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.
3. Section II has 4 questions on case study. Each case study has 5 case-based sub-
parts. An examinee is to attempt any 4 out of 5 sub-parts.
Part - B:

It consists of 3 sections - III, IV and V

Section III - Question No 21 to 26 are Very short answer Type questions of 2 mark each,
Section IV - Question No 27 to 33 are Short Answer Type questions of 3 marks each
Section V _ Question No 34 to 36 are Long Answer Type questions of 5 marks each.
Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1
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question of 5 marks.

PART - A
SECTION-1

Section - 1 has 16 questions of 1 marks each. Internal Choice is provided in 5 questions:
1. n%-1isdivisible by 8, if n is
(a) An integer (b) A natural number (c) An odd integer (d) An even integer
2. If @ and f are the zeroes of quadratic polynomial
p(x) =4x2 - 5x - 1, what is the value of «? § + 2
(@) 12—6 (b) - () I—Z’ (d) None of these
OR

If one of the zeroes of the quadratic polynomial (k-1) x2+kx+1 is - 3, then the value of k is

-2

(&2
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3. The 4th term from the end of the A.P.-11, -8, -5............ 49 is
(a) 37 (b) 40 (c) 43 (d) 58

4. Two circles touch each other externally at P. AB is a common tangent to the circle touching
them at A and B. The value of ZAPB is
(a) 30° (b) 45° (c) 60° (d) 90°

5. The relationship between mean , median and mode for a moderately skewed distribution is
(a) Mode = 2 Median - 3 Mean
(b) Mode = Median - 2 Mean
(c) Mode = 2 Median - Mean
(d) Mode = 3 Median - 2 Mean

6. For some integer m, every even integer is of the form
(@) m (b) m+1 (c) 2m (d) 2m+1

7. If V5 and - V/5 are two zeroes of the polynomial x3 +3x2 - 5x - 15, then its third zero is

(a) 3 (b) -3 (©5 (d) -5
8. How many terms of the A.P 27,24, 21 .......... should be taken so that their sum is zero
(a) 29 (b) 19 (c) 18 (d) 17
OR
L, L,LareinA.P. then x =
x+2" x+3° x+5
(@) 5 (b) 3 (€1 (d) 2

9. If the median of the data 24, 25,26, x+2, x+3, 30, 31,34is27.5, thenx =
(a) 27 (b) 25 (c) 28 (d) 30

10. If two tangents inclined at angle of 60° are drawn to a circle of radius 3 cm , the length of each

tangent is equal to
3v3

(a) =~ cm (b) 6 cm (c)3cm (d) 33 cm
OR
If PT is tangent drawn from a point P to a circle touching it at T and O is the centre of the
circle, then 2 OPT + 2 POT =
(a) 30° (b) 60° (c) 90° (d) 180°

11. The remainder when the square of any prime number greater than 3 is divided by 6, is
(a) 1 (b)3 () 2 (d) 4
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17.

12.

13.

14.

15.

16.

If the zeroes of quadratic polynomial ax?> + bx + ¢ ¢ # 0 are equal then
(a) c and a have opposite sign
(b) c and b have opposite sign
(c) c and a have the same sign
(

d) c and b have the same sign
OR

If a, B,y are the zeroes of the polynomial f(x) =ax® +bx? +cx +d , then a?+ g%+ y? =

b%-ac b%-2ac b2+ 2ac b2-2ac
@2 (b) 2= (0) 2 (d) 2=
If the 2nd term of an A.P. is 13 and 5th term is 25, what is the 7th term?
(a) 30 (b) 33 (c) 37 (d) 38

2
The mean of first n odd natural numbers is % ,thenn =
(a) 9 (b) 81 (c) 27 (d) 18
The length of the tangent drawn from a point 8 cm away from the centre of a circle of radius
6 cm is
(a) V7 c.m. (b) 2V7 c.m. ()10 c.m (d)5cm
If the nth term of an A.P. is (2n+1) , find the sum of first n terms of the A.P.
(n+1)
@ =5~ (b) 2%+n () n(n+3) (d) n(n+2)
OR

The nth term of an A.P. the sum of whose n terms is Sn is
(a) Sn + Sn-1 (b) Sn - Sn-1 (c) Sn+Sn+1 (d) Sn-Sn+1

Section - I

Case study based questions are compulsory. Attempt any four sub parts of each question.
Each sub part carries 1 mark.

To enhance the reading skills of grade X students the school nominates you and two of your
friends to set up a class library. There are two section A and Section B of grade X. There are 32
students in section A and 36 students in section B.

(i) What is the minimum number of books you will acquire for the class library so that they
can be distributed equally among students of section A or Section B?

(a) 144 (b) 128 (c) 288 (d) 272
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18.

(ii) If the product of two positive integer is equal to the product of their H.C.F and L.C.M
is true then, the H.C.F. (32,36) is

(a) 2 (b) 4 (c)6 (d)8
(iif) 36 can be expressed as a product of its prime as

(a) 22 x 32 (b) 21 x 33 (c) 23 x 31 (d) 2° x 3°
(iv) 7x 11x 13 x 15 +15isa

(a) Prime number (b) Composite number
(c) Neither prime nor composite (d) None of the above

(v) If p and q are positive integers such that p=ab? and q=a?b where a, b are prime numbers,,
then L.C.M (p,q) is

(a) ab (b) a? b? (c) a® b? (d) a® b®

Due to heavy storm an electric wire got bent as shown in the following figure. It followed a
mathematical shape answer the following questions:

i) Name the shape in which the wire is bent

a) spiral (b) elliptical (c) Parabolic (d) linear

a) 2 (b) 3 (1 (d)0

(
(
(ii) How many zeroes are there for the polynomial representing the shape of the wire ?
(
(iii) The zeroes of the polynomial represented by the wire are

(@-1,5 (b)y-1,3 (©)3,5 (d)-4,2
(iv) The expression of the polynomial representing the wire is
(a) x*+2x-3 (b) x2-2x+3 (c) x2-2x-3  (c) x*+2x +3

(v) The value of the polynomial at x =-11is
(a) 6 (b) -18 (c) 18 (d)o
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19.

20.

A carpenter wants to manufacture a 3 meter ladder having rungs 25 cm apart the rungs
decrease uniformly in length from 45 c.m. at the bottom to 25 cm at the top and the top and
bottom rungs are 2.5 metre apart

N

L

Based on the above information answer the following questions:
(i) Total number of rungs in the ladder is
(a) 10 (b) 9 (c) 11 (d)12

(ii) The length of rungs from bottom to top form an A.P with first and last terms as 45 cm and
25 cm respectively. The common difference of the A.P. formed is

(@) -2 cm. (b) -2.5c.m (c) 4.5 cm (d)2cm

(iii) The length of the middle rung is

(a) 33 cm (b) 35 c.m (c) 37 cm (d) 35.5cm
(iv) Length of the wood required for the ladder

(a) 68.5 metres (b) 9.85 metres (c) 5.85 metres (d) 8.85 metres
(v) If the wood costs Rs. 100 per metre the cost of the ladder is

(i) Rs. 685 (b) Rs. 585 (c) Rs. 885 (d) Rs. 985

A stopwatch was used to find the time that it took a group of students to run 100 m. The
following table exhibits the time intervals and the number of students completing the 100 m
race in these intervals.

Time (in sec) 0-20 20-40 40-60 60-80 80-100
No. of 8 10 13 6 3
Students

Pg-50f 8




21.

22.

(i) Estimate the mean time taken by a student to finish the race
(a) 54 (b) 63 (c) 43 (d) 50

(if) What will be the upper limit of modal class?
(a) 20 (b) 40 (c) 60 (d) 80
(iii) The construction of cumulative frequency table is useful in determining the
(a) Mean (b) Median (c) Mode (d) All of the these
(iv) The sum of lower limit of median class and modal class is
(a) 60 (b) 100 (c) 80 (d) 140
(v) How many students finished the race within 1 minute?
(a) 18 (b) 37 (c) 31 (d) 8

PART - B

SECTION - III
All questions are compulsory. In case of internal choice, attempt any one.

Each question carries 2 marks each.

Prove that a positive integer n is prime number, if no prime p less than or equal to
vn divides n.
If @ and B are zeroes of the quadratic polynomial f(x) = x2 - x - 2, find a polynomial whose
zeroes are 2@ +1 and 2 8 +1.
OR
Find the zeroes of the polynomial x? + % x - 2 and verify the relation between the coefficients

and zeroes of the polynomial.
Pg-6of 8



23.

24,

25.

26.

27.

28.

29.

30.

Divide 32 in to four parts which are in A.P. such that the product of extremes is to the product
of mean is 7:15 .

OR
Find the sum of all three digit natural numbers, which are divisible by 7.

Suba Rao started work in 1995 at an annual salary of Rs. 5,000 and received a Rs. 200 raise each
year . In what year did his annual salary will reach Rs. 7000?

OR

If (m+1)th term of an A.P. is twice the (n+1)th term, prove that (3m+1)th term is twice the
(m+n+1)th term.

The radii of two concentric circles are 13 cm and 8 c.m AB is a diameter of the bigger circle. BD
is a tangent to the smaller circle touching it at D. Find the length of AD.

Find the value of p, if the mean of the following distribution is 20.

xi 15 17 19 20+p 23
fi 2 3 4 5p 6
SECTION - IV

All questions are compulsory. In case of internal choice, attempt any one.
Each question carries 3 marks each.

A rectangular courtyard 18 m 72 cm long and 13 m 20 cm broad. It is to be paved with square
tiles of same size. Find the least possible no of such tiles.

If the polynomial x*- 10x3+ 35x2- 48x + 25 is divided by x2 - 4x +k , the remainder comes out to
be (2x+a), find the value of k and a.

Find all zeroes of the polynomial 2x* + 7x3- 19x2-14x+30 if two of its zeroes are v2 and - V2.

The sum of n, 2n, 3n terms of an A.P. are S1, S, S respectively. Prove that S; = 3 (52-51) .

OR

If mth term of an A.P. is % and nth terms is % then find the sum of mn terms of the A.P.
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31.

32.

33.

34.

35.

36.

Two circles with centre A and B of radii 3 cm and 4 cm respectively intersect at two

points C and D such that AC and BC are tangents to the two circles. Find the length of the
common chord CD.

OR
PQ is a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q intersect at
point T. Find the length T.P.

If the median of the following frequency distribution is 46, find the missing frequency.

C.L 10-20 20-30 30-40 40-50 50-60 60-70 70-80 Total

f 12 30 ? 65 ? 25 18 229

If the first term of an A.P. is 3 and sum of first five terms is equal to one fourth of the sum of
the next five terms, find the sum of first 20 terms.

SECTION -V

All questions are compulsory. In case of internal choice, attempt any one.
Each question carries 5 marks each.

Compare the modal ages of two groups of students appearing for a competitive examination .

Age (In years) | 16-19 19-22 22-25 25-28 28-31

Group | 49 80 45 26 23

Group Il 53 87 44 39 30
OR

Find the mean of the following data by step deviation method and hence find the mode, given
that median of the data is 42.5

Class 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency | 4 8 10 12 10 4 2

Use Euclid’s division lemma to show that the cube of any positive integer is either of the form
9m, 9m+1 or 9m + 8 or some integer m and check whether 6m can end with the digit 0 for any
natural number n.

For which values of a and b are the zeroes of q(x) = x3+ 2x? +a also the zeros of the polynomial
p(x) = x°-x* — 4x3 + 3x% +3x +b ? Which zeroes of p(x) are not the zeroes of q(x) ?

E e e
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
QUALIFYING EXAMINATION (2021-2022)

Class:- X Subject:- Science
Time- 3 Hrs. M.M.-80

General Instructions:-

a) All Questions are compulsory.

b) Marks are indicated against each questions.

PHYSICS
Section - A
1. “The resistance of a conductor is 1°Q”. What is meant by this statement? [1]
2. Describe the two importance of parallel combination of a domestic circuit. [1]
3. State the difference between the wire used in the element of an electric heater and in
the fuse wire. [1]
OR

In an electric circuit, state the relationship between the direction of conventional current
and the direction of flow of electrons.

4. State Ohm's law. [1]
5. Draw a schematic diagram of an electric circuit consisting of a battery of three cells each
of 1.5V, 5Q, and 15°Q resistors and a plug key, all connected in series. [1]
6. A large number of free electrons are present in metal yet no current flows in the absence of
electric potential across it. Explain the statement with reason. [1]
OR
List two differences between a voltmeter and an ammeter.
Section - B
7. Define resistivity of a material and deduce its SI unit. [2]
OR

A cylinder of material is 10cm long and has a cross section of 2cm?.If its resistance along the
length be 20 ohm, what will be its resistivity in number and units?
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8. Show how you would join three resistors each of resistance 9°Q so that the equivalent

resistance of the combination is [2]
(1)13.5Q
(i) 6Q
Section - C
9. (a) Explain the factors affecting resistivity of the conductor. [3]

(b) In the circuit given below the resistance of the path XTY=2'Q as that of XZY=6'Q
(i) Find the equivalent resistance between X and Y

(i) Find the current in the main circuit.

10.  Read the following and answer any four questions from 10(i) to 10(v) [1x4=4]
Neha decorates the window of a room using three identical bulbs B1, B2 and Bs in the figure.
When all the three bulbs glow, current of 3A is recorded by ammeter A.

10 (i) The problem in connecting the bulbs in series combination is
(a) The applied voltage is an evenly distributed among all the bulbs
(b) There will be less power consumption
(c) The bulbs will glow with less brightness
(d) The bulbs will get fused easily
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10 (ii) Which of the following combinations of resistors give equivalent resistance of 9 Ohm?

10 (iii) In the experiment for finding the equivalent resistance of two resistors connected
in parallel the voltmeter has been correctly connected in
(a) Circuit 1 only
(b) Circuit 2 only
(c) Both circuit 1 and 3
(d) Both Circuits 2 and 4

Pg -3 of 10



10 (iv) What is the maximum resistance which can be made using five resistors each
of (1/5) ohm?

(@) 5 ohm (b)10 ohm (c) 1 ohm (d) 25 ohm
10 (v) A wire of resistance 1 ohm is elongated by 10%. The resistance of the elongated wire is:

(@) 1.1 ohm (b) 11.1 ohm ()1.21 ohm (d) 13.1 ohm

11. Following and answer any four question from 11(I) to 11(v). [1x4=4]

Mr. Sharma called an electrician to do wiring in his newly constructed house. Electrician
made the connections of three points of 80W each and four tube light of 40W each.

11(i) The most convenient way to do household wiring is in
(a) Series combinations
(b) Parallel combination
(c) Maybe series or parallel combination
(d) Neither series nor parallel combination

11 (ii) The advantage of the combination in which household wiring is done, is
(@) The reciprocal equivalent resistance is less than that of each device.
(b) If one device gets damaged there will be no effect on other devices.
(c) The current from the source is greater than the current through each device
(d) There will be more power consumption by the devices

11(iii) If all the devices are used for 10h daily, Total energy consumed in a day is
(a) 2 kWh
(b) 3 kWh
(c) 4 kWh
(d) 5kWh

11 (iv) The following figure represents

(@) Two lamps, one cell and a switch connected in parallel combination
(b) Two lamps, one cell and a switch connected in series combination
(c) Two lamps, and two cells in series combination

(d) Two lamps, two cells and a voltmeter in series combination

—Mo—'-{f-__

el
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11(v) The equivalent resistance of the following circuit is

(a) 0.25°Q
(b) 0.5°Q
(c) 0.725°Q
(d)1°Q

A._

2Q 2Q 20 2Q
Be
Section - D
12.  (a) Describe an activity to verify the relation between current and potential difference.

(b) Two lamps, one rated 100w at 220v and the other 60w at 220v are connected in parallel

to electric main supply. What current is drawn from the line if the supply voltage
is 110v?
[5]
OR
(a) Derive an expression for heat produced in a conductor of resistance R, when a current I
tlows for time t. Hence explain Joule’s law of heating effect.

(b) An electric refrigerator rated 400W operates 8 hour per day. What is the cost of the energy
to operate it for 30 days at Rs. 3 per kWh?

CHEMISTRY
Section A

1. Give an example of endothermic combination reaction. [1]

Why does silver Chloride turns grey in sunlight? [1]
3. Complete the equation [1]

Mn0, +HCl —
OR
What happens when carbon monoxide (g) reacts with hydrogen (g) at 340 atm.( write
equation)

The following questions consist of two statements- Assertion (A) and Reason ( R).
Answer these questions selecting the appropriate option given below:

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is not the correct explanation of A

(c) A is true but R is false

(d) A is false but R is true
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Assertion (A) The aqueous solution of glucose and alcohol do not show acidic character.
Reason ( R) Aqueous solution of glucose and alcohol do not give hydrogen ion. [1]

Read the following and answer any four questions [1x4=4]
Salt of a strong acid and a strong base is neutral with pH value of 7. NaCl ( common salt) is
formed by a combination of hydrochloric acid and sodium hydroxide solution. This is the salt
which is used in food. The Common salt thus obtained is an important raw material for
various materials of daily use, such as sodium hydroxide, baking soda, washing soda,
bleaching powder etc.
(i) Which of the following does not form an acidic salt?

a) nitric acid

b) carbonic acid

c) hydrochloric acid

d) sulphuric acid

(ii) Which of the following salts has no water of crystallisation
a) Blue Vitriol
b) Washing soda
c) Baking soda
d) Gypsum

(iii) The formula of baking soda is
a) KoCOs
b) KHCO;3
c) NaHCOs3
d)NaxCOs

(iv) Which of the following is treated with chlorine to obtain bleaching powder
a) CaSOyq
b) Ca(OH):
c) Mg(OH) 2
d) KOH
(v) Which of the following salts is used for removing the permanent hardness of water
a) Washing soda
b) baking soda
c) bleaching powder
d) sodium hydroxide

Pg -6 of 10



Section B
6. On heating blue coloured powder of copper nitrate in a test tube, copper oxide (black) , oxygen
gas and a brown gas is formed.
(a) Write a balanced chemical equation of the reaction.
(b) Identify the brown gas X evolved.
(c) Identify the type of reaction. (2]

7. Why is the amount of gas collected in one of the test tubes double of the amount collected in
the other in electrolysis of water experiment. Name this gas. [2]

OR
Consider the following equation given below and answer the questions that follow:
CuO+H; =Cu+HO

a) Name the substance which is getting oxidised.

b) Name the substance which is getting reduced.

c) Name the oxidising agent.

d) Name the reducing agent

Section - C
8. Give one example each of ( write equations) [3]

(a) Thermal decomposition reaction
(b) Electrolytic decomposition reaction
(c) Photo decomposition reaction

9. You are given two solutions A and B. The pH of solution A is 6 and pH of solution B is 8.
i) Which solution is acidic and which is basic? [3]
ii) Which solution has more H* concentration?
iif) Why is HCl a stronger acid than acetic acid?

10. Ferrous sulphate crystals are heated in a test tube. [3]
i) List any two observations.
ii) Name the type of chemical reaction taking place.
iii) Write balanced chemical equation for the reaction and name the products formed.

Section - D
11 .a) Why does tooth decay start when the pH of mouth is lower than 5.5?
b) Name the acid present in an ant sting and give its chemical formula. Also give the common
method to get relief from the discomfort caused by an ant sting.
c) What happens when nitric acid is added to an egg - shell? ( write equation)
[2+2+1=5]
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OR

a) Why does distilled water not conduct electricity, whereas rain water does?

b) State the chemical property in each case on which the following uses of baking soda are based:

i) as an antacid

ii) as a constituent of baking powder

While diluting an acid, why is it recommended that the acid should be added to water and not

water to the acid? [2+2+1=5]
BIOLOGY

What is the significance of emulsification of fats? [1]

Why CO:z transported through blood plasma whereas O transported
through RBCs? [1]
OR

Out of goat and a tiger, which one will have a longer small intestine?

Justify your answer.

Plants have low energy needs as compared to animals. Explain. [1]
OR

What is common for cuscuta, ticks and leeches?

How is the food pushed forward in the alimentary canal? [1]

For question numbers 5 and 6, two statements are given one labeled
Assertion (A) and the other labeled Reason (R) . Select the correct answer to these questions
from the codes (a), (b ), (c) and (d) as given below.

(@) Both A and R are true, and R is the correct explanation of the assertion.

(b) Both A and R are true, but R is not correct explanation of the assertion.

(c) A is true, but R is false.

(d) A is false, but R is true.

Assertion : The opening and closing of the stomatal pore is a function of the [1]
guard cells.
Reason: Stomatal pores are the site for exchange of gases by diffusion.

OR
Assertion : Human beings have a complex respiratory system.
Reason: Human skin is impermeable to gases.

Assertion : Transpiration cools leaf surface. [1]
Reason: Transpiration helps in transportation of sugar in plants.

Pg - 8 of 10



Read the following and answer any FOUR questions from 7 (i) and 7 (v).

Photosynthesis is a biochemical process of manufacture of organic food from CO»

and water with the help of solar energy inside chlorophyll containing cells. Oxygen is
liberated out during this process. [1X4=4]

7(i) The internal energy reserve in autotrophs is
(a) Glycogen
(b) Protein
(c) Starch
(d) Fatty acid

7(ii) Oxygen liberated during photosynthesis comes from
(a) Water
(b) Chlorophyll
(c) Carbon di oxide
(d) Glucose

7(iii) Which of the following statements about the autotrophs is incorrect?
(a) They synthesize carbohydrates from carbon di oxide and water in the presence of
sunlight and chlorophyll
(b) They store carbohydrates in the form of starch.
(c) They convert carbon di oxide and water into carbohydrates in the absence of sunlight.
(d) They constitute the first trophic level in a food chain.

7 (iv) Choose the event that does not occur in photosynthesis.
(a) Absorption of light energy by chlorophyll.
(b) Reduction of carbon di oxide to carbohydrates.
(c) Oxidation of carbon to carbon di oxide.
(d) Conversion of light energy to chemical energy.

7 (v) Which of the following equations is the summary of photosynthesis?
(a) 6 CO2+12H20-------- >CsH1206+602+6H20

(b) 6 CO2+H20O+sunlight----------- >CsH1206+02+6H20O
(c) 6 CO2+12H20O+chlorophyll+sunlight------- >CsH1206+602+6H0
(d) 6 CO2+12H20O+chlorophyll+sunlight---------- >CH1206+6CO2+6H20
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10.

11.

12.

13.

Section - B

8. Leaves of a healthy potted plant were coated with vaseline. Will this plant remain healthy

for long? Give reasons for your answer. [2]
OR
How is the small intestine designed to absorb digested food?

9. Why is the rate of breathing in aquatic organisms much faster than in terrestrial

organisms? 2]
SECTION C
Explain the three pathways of breakdown of glucose in living organisms. [3]
OR

What are the functions of gastric glands present in the walls of the stomach?

Give reasons: [1+1+1=3]
(a) Arteries form capillaries

(b) Residual volume of air is present in the lungs.

(c) In mammals separation of oxygenated and deoxygenated blood is necessary.

(a) Differentiate between photosynthesis and respiration ( any two points )
(b) How are the alveoli designed to maximize the exchange of gases? [2+1=3]

SECTION -D

[3+1+1=5]
(a) Give the schematic representation to show double circulation in mammals.
(b) Veins are thin walled and have valves. Justify.
(c) Ventricles have a thicker muscular wall than atrium. Why?

R R e
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DELHI PUBLIC SCHOOL
SAIL TOWNSHIP, RANCHI

QUALIFYING EXAMINATION (2021-2022)

Class:- X Subject:-Social Science
Time:- 3 Hrs. F.M. :- 80

General Instructions:-

All Questions are compulsory.
Marks are indicated against each question.

HISTORY (20 Marks)
SECTION- A
1. Who among the following formed the secret society called “Young Italy’? (1)
(a) Otto von Bismarck
(b) Giuseppe Mazzini
(c) Metternich
(d) Johann Gottfried Herder
2. Elle, the measuring unit in Germany was used to measure: (1)
(a) cloth
(b) thread
(c) land
(d) height
3. Zollverein started in 1834 in Prussia refers to a: (1)
(a) Trade Union
(b) Customs Union
(c) Labour Union
(d) Farmer’s Union
SECTION- B
4. What was the Napoleonic Code ? 3)
5. Explain any three features of the class of landed aristocracy in Europe ? 3)
OR
Explain any three reasons for the conflict in the Balkans.
SECTION- C

6. Read the source given below and answer the questions that follows :

Following the defeat of Napoleon in 1815, European governments were driven by a spirit of
conservatism. Conservatives believed that established, traditional institutions of state and
society - like the monarchy, the Church, social hierarchies, property and the family - should
be preserved. Most conservatives, however, did not propose a return to the society of pre-
revolutionary days. Rather, they realised, from the changes initiated by Napoleon, that
modernisation could in fact strengthen traditional institutions like the monarchy. It could
make state power more effective and stronger. A modern army, an efficient bureaucracy, a
dynamic economy, the abolition of feudalism and serfdom could strengthen the autocratic
Pg-1o0f9



monarchies of Europe. In 1815, representatives of the European powers who had collectively
defeated Napoleon, met at Vienna to draw up a settlement for Europe. The Congress was
hosted by the Austrian Chancellor Duke Metternich. The delegates drew up the Treaty of
Vienna of 1815 with the object of undoing most of the changes that had come about in Europe
during the Napoleonic wars. The Bourbon dynasty, which had been deposed during the
French Revolution, was restored to power and France lost the territories it had annexed under
Napoleon. A series of states were set up on the boundaries of France to prevent French
expansion in future.

Answer the following MCQs by choosing the most appropriate option:-
6.1 Which of the following statements correctly describes about European conservative ideology ?
&)
A. Preservation of beliefs introduced by Napoleon
B. Preservation of two sects of Christianity
C. Preservation of socialist ideology in economic sphere
D. Preservation of traditionalist beliefs in state and society

6.2 Identify the purpose to convene the Vienna Congress in 1815 from the following options.
&
A. To declare competition of German unification
B. To restore conservative regime in Europe
C. To declare war against France
D. To start the process of Italian Unification

6.3 What did conservatives focus on at the Congress of Vienna? Select the appropriate option.
M
A. To re-establish peace and stability in Europe
B. To establish socialism in Europe
C. To introduce democracy in France
D. To set up a new Parliament in Austria

6.4 How did the Congress of Vienna ensure peace in Europe? Select the appropriate option.
&
A. With the restoration of Bourbon Dynasty
B. Austria was not given the control of Northern Italy
C. Laying out a balance of power between all the great powers in Europe
D. By giving power to the German confederation

SECTION-D

7. What steps were taken by the French revolutionaries to create a sense of collective
belonging, among the people of France ? )]
OR

‘Habsburg Empire was a patchwork of many different regions and people in Europe’. Discuss.

SECTION- E
8. Two places A and B have been marked on the given outline map of India. Identify them and
write their correct names on your answer sheet. (2)
A. Indian National Congress Session at this place in 1927.

B. Mahatma Gandhi organised a Satyagraha Movement at this place for indigo planters.
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POLITICAL SCIENCE (20 marks)
SECTION- A
. Who elects the community government in Belgium ? (1)
(a) People belonging to one language community only.
(b) By the leader of Belgium.
(c) The citizens of the whole country.
(d) The community leaders of Belgium.
. The word “ethnic’ signifies : (1)
(a) different religions.
(b) social division on shared culture.
(c) a violent conflict between opposite groups.
(d) a careful calculation of gains and losses.
. The system of Panchayati Raj involves : (1)
(a) The village, block and district levels.
(b) The village and state levels.
(c) The village, district and state levels.
(d) The village, state and Union levels.
. In case of a clash between the laws made by the centre and a state on a subject in the concurrent
list : (1)
(a) the state law prevails.
(b) the central law prevails.
(c) both the laws prevail within their respective jurisdiction.
(d) the Supreme Court has to intervene to decide.
. InIndia’s federal system, the state governments have the power to legislate on all those
subjects which are included in the : (1)
(a) Union list.
(b) State list.
(c
(

) Concurrent list.

d) Residuary subjects.
SECTION-B
. What were the provisions of 1956 Act, in Sri Lanka? 3)
OR
Examine the main elements of Belgian model of power sharing.
. Explain any three features of federalism. 3)
SECTION-C

. Read the source given below and answer the questions that follows :

The Constitution originally provided for a two-tier system of government, the Union
government or what we call the central government, representing the Union of India and the
State governments. Later, a third tier of federalism was added in the form of Panchayats and
Municipalities. As in any federation, these different tiers enjoy separate jurisdiction. The
Constitution clearly provided a three-fold distribution of legislative powers between the

Union government and the State governments.
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Answer the following MCQ’s by choosing the most appropriate option :

8.1. Foreign affairs comes under : (1)
(a) Union list
(b) State list
(c) Concurrent list
(d) Residuary subjects

8.2. Which of the following subjects is not included in the state list? (1)
(a) Police
(b) Trade
(c) National defence
(d) Commerce

8.3. Subjects like computer software that came up after the constitution was made, comes under : (1)
(a) Concurrent list
(b) Residuary Subjects
(c) State list
(d) Union list

8.4. How much seat is reserved for women in Panchayat elections? (1)
(a)1/2

(b)3/4

(c)1/3

(d)1/4

SECTION-D
9. What are the different forms of power sharing in modern democracies? Explain. ®)

ECONOMICS (20 Marks)

SECTION- A
1. Development of a country can generally be determined by : (1)
(a) its per capita income
(b) its average literacy level
(c) the health status of its people
(d) all the above
2. Which of the following neighbouring countries has better performance in terms of
human development than India ? (1)
(a) Bangladesh
(b) Sri Lanka
(c) Nepal
(d) Pakistan
3. Assume there are four families in a country. The average per capita income of these families
is Rs.5000. If the income of three families is Rs.4000, Rs.7000 and Rs.3000 respectively, what is
the income of the fourth family? (1)
(a) Rs.7,500
(b) Rs.3,000
(c) Rs.2,000
(d) Rs.6,000
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4. If BMI is less than 18.5 then the person would be considered : (1)
(a) over weight
(b) long height

(c) under nourished

(d) short height

5. In the question given below, there are two statements marked as Assertion (A) and
Reason (R). Read the statements and choose the correct option : (1)
Assertion (A): Different people have different developmental goals
Reason (R): People want freedom, equality, security and respect.
Options :

(a) Both A and R are true and R is the correct explanation of A

(b) Both A and R are true but R is not the correct explanation of A
(c) Ais true but R is false

(d) A is false but R is true

SECTION- B
6. In what way is the criterion, used by the World Bank for measuring development, different
from the one used by UNDP? Discuss. 3)
7. Why are developmental goal different for different people? Explain with the help of
examples. 3)
SECTION-C
8. Read the source given below and answer the following questions :

Besides seeking more income, one-way or the other, people also seek things like equal
treatment, freedom, security and respect for others. They resent discrimination. All these are
important goals. In fact, in some cases, these may be more important than more income or
more consumption because material goods are not all that you need to live.

Answer the following MCQ'’s by choosing the most appropriate option :

8.1 Different persons could have different as well as conflicting notions of a country’s
development. A fair and just path for all should be achieved. Interpret the concept being
discussed here. (1)

(a) Social development
(b) Cultural development
(c) National development
(d) Economic development
8.2 Countries with higher income are than others with less income. (1)
(a) Less developed
(b) More developed
(c) Less stronger
(d) More organised
8.3 Total income of the country divided by its total population is known as : (1)
(a) Capital income
(b) National income
(c) Per capita income
(d) GDP
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8.4. Proportion of literate population in the 7 and above age group is called as:
(a) Knowledge rate

b) Literacy rate

c) Attendance rate

d) Exellence rate

(
(
(

SECTION-D

9. What is meant by sustainable development? Explain with the help of examples.

OR

“For development people look at a mix of goals”. Explain with help of example.

GEOGRAPHY (MARKS 20)

1. Fill in the blank:
The total geographical area of India is million sq. km.

OR

The pattern of net sown area is over per cent of total area in Punjab and Haryana.

2. The most widespread relief feature of India is

A. Mountains
B. Plateaus

C. Plains

D. None of these

3. Fill in the blanks of the following table with suitable information:

Resources on the basis of exhaustibility

Resource Examples/Type
(A)  eeeeeeiiiiiiiee e eeeeeeeeee. | Solar and wind energy
(B)  eeeeeiiiiiiiiiiiiiiiiiveeveeeee. | Mineral and Fossil fuels

4. Identify the soil with the help of the following features.

1)

(Yot V2 =1)

e It develops under tropical and subtropical climate with alternate wet and dry

season.

e Mostly deep to very deep, acidic (pH<6.0), generally deficient in plant nutrients.

e Itis generally humus poor under sparse vegetation and in semi-arid environment
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5. From which Five Year Plan has India made concerted efforts for achieving the goals for

resource planning? 1)
A. First Five Year Plan

B. Third Five Year Plan

C. Fifth Five Year Plan

D. Eighth Five Year Plan

6. How have technical and economic development led to more consumption of resources? 3)
7. Read the text given below and answer the following questions: 4)

Alluvial soils as a whole are very fertile. Mostly these soils contain adequate proportion of
potash, phosphoric acid and lime which are ideal for the growth of sugarcane, paddy, wheat
and other cereal and pulse crops. Due to its high fertility, regions of alluvial soils are
intensively cultivated and densely populated. Soils in the drier areas are more alkaline and can
be productive after proper treatment and irrigation.

Black soils are black in colour and are also known as regur soils. Black soil is ideal for growing
cotton and is also known as black cotton soil.

Answer the following MCQs by choosing the most appropriate option

7.1 is the most widely spread and important soil in India. (1)

A. Laterite soil
B. Black soil
C. Alluvial soil
D. Arid soil

7.2 In which of the following states alluvial soil is found? (1)
A. Rajasthan

B. Karnataka
C. Goa
D. Mizoram

7.3 Which is/are the important factors for the formation of black soil? (1)
A. Climatic condition.
B. Parent rock material
C. Both A and B
D. None of the above.
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7.4 Black soil is deficient in (1)
A. Calcium carbonate
B. Magnesium
C. Potash
D. Phosphoric contents

8. Explain any five human activities which are responsible for land degradation in India. )]
OR
Describe any five important characteristics of arid soils.
9. Five features A, B, C, D and E are marked on the given political outline map of India. Identify
these features with the help of the following information and write the correct names of any
Three on the answer script. ©))

A. Type of soil
Type of soil
Type of soil
Type of soil

moow

Type of soil

INDIA

Political

Soale 11 10.44AM
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SAIL TOWNSHIP RANCHI
Qualifying Examination (2021-22)

@ DELHI PUBLIC SCHOOL

Class- X Subject: French
Time: 3 Hrs. M.M: 80
Paper A
Obijective(40 MARKS)
Section 1

Culture and civilisation

L Cochez la bonne reponse : (10 aux choix) 10M

1. Quest-ce que c’est camembert?.
a) Village b) vin c) fromage
2. En quelle jour célebre festivale de cannes?
a) 1st juillet b) 21st june ¢) 1st mai
3. Ou se trouve musée d’orsay ?
a) Paris b) Nice c) Lyon
4. Ou est paris située?
a) sur riviére garonne b) seine c) Loire
5. Qui était jaques prevert ?
a) poeéte  b) Ecrivain c) professeur
6. Dans quelle classe entre-t-on au collége?
a) Troisiéme classe b) sixiéme classe c¢) deuxiéme classe
7. Ou fait-il aller pour faire le baccalauréat?
a) Lycée b) college ) université
8. Quest-ce que c’est “ Le bordeaux”?
a) vie b) vin c) None
9. Qui s’appelle aussi le vie lumiére?
a) Paris  b) Lille c)Nice
10. Le festival de avignon est
a) Festival de théatre D) festivale de mort c) None



Section 2

Writing (10 MARKS)
II. Mettez le texte dans le bon ordre: 10 M
1. Voici l'argent. Au revoir.
2. Clesttout?,
3. Non, je veux aussi un demi kilo de haricots verts et un bon chou. Qa fait
combien ?
4. Bonjour, monsieur. Que voulez-vous aujourd’hui ?
5. Aurevoir et bonne journee.
6. Jevoudrais 1 kilo de tomates et 1 kilo de pommes de terre.
7. Qa fait 20€ au total.

Section 3 Grammer (15 MARKYS)

IV. Conjuguez les verbes aux temps convenables: ( 3 aux choix) : 3M

1. (ouvrir) le porte ,s’il te plait !
a) Ouvre b) ouvres ¢) ouvrait
2. Le mois prochain , vous ( pouvoir) venir chez nous.
a) Pouriez b) pourrez C) peux
3. Quels verbes ( apprendre) - il hier ?
a) A- t-il- appris  b) apprend ) apprendre
4. Nous ( voyager) en avion le mois prochain .

a) Voyageons b)Voyageron c) voyagieons

V. Complétez avec les adjectifs : 12M
Mathilde est unefille .................. (beau) et ................... (souriant). Elle a un frere ...................
(grand) et .................. (sportive). Mathilde est .................. (courageux) et ..................
(intelligent). Elle est ................... (petit). Elle a les cheveux ............... (brun) et .................
(court). Elle habite dans une maison .................. (ancien), .................. (propre) et ..................
(confortable).



Section 4

Unseen passage (5MARKS)

IX. Lisez bien le texte et répondez aux questions qui suivent :

L'Inde a réussi a placer sa sonde en orbite de Mars, un succes pour cette premiére

mission indienne vers la planete rouge. "L'Inde a reussi a atteindre Mars.

Félicitations a vous tous, au pays tout entier. L'histoire s'écrit aujourd'hui”, a

announcé le premier le premier ministre depuis le siege de la mission pilotée par

I'agence spatiale indienne (ISRO) a Bangalore, au sud du pays.

La sonde Mars Orbiter Mission (MOM) - également baptisée « Mangalyaan >>
par les Indiens - avait décollé le 5 novembre 2013. Elle a été concue et produite
en un temps record et avec un budget réduit, I'Inde atteignant son objectif de
devenir le premier pays d'Asie a atteindre Mars. Seuls les Etats-Unis, la Russie
et I'Europe ont réussi dans cette entreprise jusque-la. Avec un budget de 74

millins de dollars, la mission indienne n'a cotité qu'une fraction de la sonde «

MAVEN >> de la NASA.

La sonde indienne est munie de capteurs destinés a mesurer la présence de

méthane dans I'atmosphére de Mars, qui accréditerait I'hypothése d'une forme

de vie primitive sur cette planéte.

1.1 Choisissez la bonne réponse :

a) La planété rouge est
i) Mars (ii) «Mangalyaan >> (iii) NASA

b) ISRO est

i) une planete  (ii) une sonde (iii) une agence spatiale

i)I'Inde (i) les Etats-Unis (iii) la Russie

d) MOM avait décollé le

(
(
(
(
(C) Le premier pays d'Asie d'atteindre Mars est
(
(
(

i) 6 octobre 2013 (ii) 5 novembre 2013 (iii) 5 novembre 2014

4M



1.2. Cherchez dans le texte : (2 aux choix) M
A. Le contraire de < moderne>
B. La forme nominale de < succéder>

C. La forme verbale de < I’écriture>

Paper B Subjective (40 MARKS)

Section 1 (10 MARKS)

X. Répondez aux questions (10 aux choix) 10M

. Nommez une grand cathédrale de paris.
. Quest-ce-que le “bordeaux”.

. Qui est céline dion ?

. Qui a écrit < Le petit prince>

1

2

3

4

5. Qui a crée le festival d’Avignon

6. Nommez deux journaux francais

7. Dans quelle classe entre en college?
8. Nommez des monument francais ?
9. Donnez quelques exemple de fast food.
10. Nommez les féte francais?

11. Quest-ce-que le CROUS?

12. Quest -ce - que le < sorbonne> ?

Section 2
Writing( 7 MARKS)

XI. Ecrivez une lettre a votre ami en décrivant votre vacance d’été. (environ 80 mots)
Ou
Vous étes a Paris. Ecrivez une lettre a vos parents en Inde en décrivant le systéeme
éducatif francais. (80 mots)



Section 3 Grammer ( 18 MARKS)

XIl. Complétez les phrases avec les adjectifs : 10M

1. (ancien) Le tableauest ................, la peinture est ..................

2. (mauvais) Les gateaux sont ................., les baguettes sont .................

3. (seul) Lejeune hommeest ............,lafilleest............aussi.

4. (mignon) Le bébé est............... , les petites filles sont .................

5. (léger) Cette valise est ................ mais mon sac est plus ...

6. (secret) C'est un dossier ...... , C'est une mission .

7. (cher) Ce couturier-ci est ...... . mais cette couturlere Ia est pIus

8. (doux) Il aunregard .. . mais elle a une voix ...............

9. (gentil) Mon amie Marle est ..,sonfrereest............ aussi.

10. (menteur) Cette fille est .. ... une grande , son ami est aussi ...............
Xlll. Mettez a I'impératif : 5M

1. (Résumer) votre travail.

2. (Partir) tout de suite, nous sommes en retard.

3. (Selaver) tes jambes sont sales.

4. (Donner) les-moi s'il te plait.

5. (Avoir) de la patience, s'il te plait.

XIV. Complétez avec un article partitif ou contracté : [du, de laetc. / au,alaetc] 3M

1. llmange............... salade verte.
2. Va............. bibliotheque chercher les livres.
3. Jevais prendre. .................. fromage ce soir.



Section 4 Unseen passage (5 MARKS)

XVIL. Lisez les textes suivants et répondez aux questions qui suivent :

DEPART DES ANGLAIS
Que reste-t-il de I'influence anglaise aux Indes ? Pratiquement rien ou presque rien !
Les « civils servants >> britanniques sont partis sans regarder en arriére, sans
chercher a rester un peu plus : toute 'administration indienne est passée entre des
mains indiennes ou pakistanaises : I'armée elle-méme s'est vidée de ses éléments
anglais. Telle ville, comme Allahabad, grand centre d'influence anglaise et qui
contenait plusieurs milliers d'Anglais, n'en a plus, me dit-on, que quelques unités. La
démission de l'ancien conquérant a donc été sincére et intégrale.
Et aujourd'hui, que reste-t-il de la période anglaise ? Tout ou rien ? Est-ce que
I'Inde du vingt et uniéme siecle a completement oublié cette période coloniale qui
était a la fois riche et pauvre ? Riche en contact avec 1'Angleterre et I'Europe;
pauvre en manque d'indépendance et de liberté.
Ensuite cette rivalité entre I'Inde et le Pakistan a connu des guerres. Mais, c'est
le moment de changer tout cela. Il faut maintenant créer un sous-continent
indien fort et prospeére.
1. Répondez: M
1) Comment sont partis les Britanniques apres l'indépendance de I'Inde ?

2) . D'apres vous, la période coloniale britannique était riche ou pauvre ? Pourquoi ?

2. Dites vrai ou faux. 2M
1) Les « civils servants >> britanniques ne voulaient pas partir.
2) Allahabad était un grand centre commercial.
3) L'armée s'est vidée des éléments pakistanais.

)

4) C'est le moment de changer tout.

3.Donnez : M
1) Le contraire de < tout>

2) La forme nominale de < regarder>






DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
QUALIFYING EXAMINATION (2021-2022)

Class:- X Subject:- German
Time- 3 Hrs. M.M.-80

II.

SECTION - A (LESEN)
Lies den Text und beantworte die Fragen. [8]

Die Nudeln sind nicht nur zum Essen da, das haben die Schiiler des Goethe-Gymnasiums aus
Kassel mit interessanten Experimenten gezeigt. In diesem Jahr haben 36 von 135 Schiilern der
9 Klasse das Wahlfach Physik genommen. ,Physik hat mich schon immer interessiert, weil sie
simpel und logisch ist", erkldart Anna Scharf (15), eines von drei Mddchen im Kurs von Physik-
Lehrer Jens Pfltiger. Thema des ersten Halbjahres im Physik- Wahlfach war ,Brticken bauen".
Die Schiiler mussten dabei auch ganz praktisch arbeiten und aus Nudeln Briicken bauen! Die
Briicken mussten mindestens einen Meter lang sein und zehnmal mehr Gewicht tragen
konnen als sie selber wiegen. Also, wenn eine Briicke 2 Kilogramm hatte, musste sie 20
Kilogramm tragen. Die Schiiler durften nur mit Nudeln und heiflem Klebstoff arbeiten. Ein
halbes Jahr haben die jungen Physiker in Gruppenarbeit die, Nudel-Briicken" konstruiert. Am
Ende haben sie dann ihre Modelle présentiert.

Die stabilste Briicke aus Nudeln ist 1,6 Kilogramm schwer und tragt tiber 17 Kilogramm., Da
kann meine zweijdhrige Tochter sitzen, und die Briicke geht nicht kaputt", sagt Physik-Lehrer
Jens Pfliiger. Ich finde es cool, dass wir aus Nudeln Briicken gemacht haben", sagt Anna. Thr
und den anderen Schiilern hat der Job als Briicken-Konstrukteur Spaf$ gemacht.

A. Beantworte die Fragen. [6]
1. In welchem Fach haben die Schiiler Experimente gemacht?

2. Wie findet Anna Scharf Physik?

3. Welcher Materialien durften die Schiiler bei der Briicken-Konstruktion benutzen?

4. Wie lange haben die Schiiler an den Modellen gearbeitet?

5. Wie ist die stabilste Briicke? 6. Schreib eine Uberschrift zu dem Text.

B. Such Gegenteile aus den Texten. [2]
1. leicht x 2. Anfang x
Lies den Text und beantworte die Fragen. [7]

Kommunikationstypen

Veronika, 41: Ich personlich kommuniziere gern schriftlich. E-Mail ist fiir mich da ideal - das
ist schnell und direkt. Manchmal schreibe ich aber auch einen Brief oder eine Postkarte. Die
Karten oder die Briefumschlédge gestalte ich dann auch. Auflerdem verwende ich nur

Pg-1o0of5



III.

besondere Briefmarken. Mein Handy benutze ich eher selten, SMS schreibe ich aus Prinzip
nicht. Das ist mir zu unpersonlich. Ab und zu telefoniere ich per Skype, vor allem mit
Freunden, die im Ausland leben.

Detlef. 60: Was sich die jungen Leute heute per SMS mitteilen, haben wir frither auf Zettel
geschrieben. In der Schule, auf dem Pausenhof -auf Zetteln haben wir besprochen, wer wen
gut oder schlecht findet wann und wo wir uns treffen, ... Ich habe noch ein paar von den
Briefchen, die der Lehrer damals nicht einkassiert hat. Heute schreibe ich immer noch gern
Briefe, zum Beispiel an meinen Freund Klaus, der in Australien lebt und den ich nur sehr
selten sehe. Ich freue mich immer, wenn in meinem Briefkasten auch ein Brief liegt.

Jessica, 32: Ich bin Biirokaufrau und sitze fast den ganzen Tag am PC. Deswegen bin ich
abends froh, wenn das Ding mal aus ist! Wenn ich reden will, schicke ich meinen Freunden
eine SMS und wir treffen uns. Spontan und schnell. Mit meiner Cousine Annika, die zurzeit in
Frankreich studiert, chatte ich oft, weil es fast nichts kostet. Nur die Kosten fiirs Internet eben.

Andreas, 24: Ich bin ziemlich kommunikativ und finde Skype genial, besonders fiir Menschen,
die weit voneinander entfernt leben. Man kann so viel chatten und telefonieren, wie man will.
Mein Freund arbeitet zurzeit in New York, und da bin ich froh, dass wir nicht nur miteinander
sprechen, sondern uns auch sehen kénnen, wenn die Webcam eingeschaltet ist.

A. Wer sagt das? Ergidnze die Namen: [3]

schreibt keine SMS.
findet Skype genial.

hat einen Beruf, den sie hauptsdchlich am PC austibt.

hat eine Cousine, die im Ausland studiert.

schreibt ab und zu mal einen Brief.

SR o A

findet SMS schreiben unpersonlich.

B. Beantworte die Fragen. [4]
1. Wie kann man schriftlich schnell kommunizieren?

2. Wie kann man sich spontan schnell verabreden?

3. Warum chattet Jessica oft mit ihrer Cousine?

4. Was sind die Vorteile von Skype?

SECTION -B (SCHREIBEN)
E-Mail schreiben: [8]
Deine deutsche Freundin Silke hat dich in ihrer letzten Mail tiber deine Schule gefragt. Schreib
Ihr eine E-Mail und erzihl von deiner Schule. Schreib etwas zu den folgenden Punkten:
e Welche Schule besuchst du? Wie lange dauert die Schule?
Pg-2o0f5



e Wann und wie viele Pausen hast du in der Schule?
e hat die Schule eine Kantine? Was kann man da kaufen?
e Wie findest du das Essen in der Schulkantine?
IV. Dialog schreiben: 71

Du bist mit deiner Mutter in einem deutschen Restaurant. Du bestellst das Essen fiir euch Was
sagst du? Was sagt der Kellner? Schreib dazu einen Dialog.

SECTION -C (GRAMMATIK)
V. Setze die Konnektoren ein. [8]
1. ich genug Geld habe, will ich mir kein neues Auto kaufen.

2. Herr Saha hat mir gesagt, er spat zu Party kommt.

3. Ich fliege im Herbst nach Berlin, ich genug Geld habe.
4. Wir mochten wissen, wir Bald einen Test haben.

5. Ich denke, die Lehrerin uns helfen wird.

6. Sie gehen im Park spazieren, das Wetter sehr schon ist.
7. ich Sports getrieben habe, bin ich mitide.
8. Ich hatte kein Auto, ich in die Stadt gezogen bin.

VI.  Schreibe die Sitze im Priteritum um. [8]
1. Der Lehrer spricht mit dem Studenten.
2. Sie antwortet auf ihre Frage.
3. Der Mechaniker repariert den Wagen.
4. Er macht das Fenster auf.
5. Der Mann fragt ihn nicht.
6. Am Sonntag schlafen Frank und Vera lange.
7. Welche Lander findest du interessant?

8. Die Ferien sind super.

VII. Erginze die Pripositionen. [8]
1. Robert kommt zu Hause und holt mich ab. [nach/bei/von]
2. Ich bin Bahnhof. Wo bist du? [in/am/von]
3. Wo liegt die Post? - Da, gleich die Ecke. [um/in/an]
4. Entschuldigung! Wie komme ich am besten Post? [zum/zur/auf]
5. Gehen wir jetzt nach Hause oder Lena? [um/in/zu]
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VIIIL

IX.

6. Gehst du gern Kino? [ins/ans/zum]

7. Hallo Daniel Du siehst ja toll aus! Warst du Frisor? [am/beim/mit]
8. Wann kommst du heute Hause zuriick?

[von/nach/zu]

Verbinden die zwei Sitze. [4]

1. Peter fragt. Hast du genug Geld?
2. Ich weifs nicht. Es gibt Probleme bei der Arbeit.
3. Ich mochte wissen. Wie oft bist du zu Partys gegangen?

4. Es ist unsicher. Die Kinder gehen heute mit.

Was passt zusammen?
[4]
1. Frau Stein zog nach Barcelona um.  A. obwohl er fiir eine Priifung lernen muss.
2. Mia hatte hohes Fieber, B. ob seine Frau das Auto genommen hat.
3. Mein Bruder weif$ nicht, C. nachdem sie Spanisch gelernt hatte.

4. Karl will ausgehen, D. als sie von dem Unterricht gekommen ist.

Erginze die passenden Adjektive in den richtigen Formen. [8]

schwierig - alt - gern - hasslich - kurz - viel — laut - gut

1. Mein Handy ist als Kevins Handy. Ich habe es ein Jahr und er hat es fiinf Monate.
2. Die neue Lampe gefllt mir {iberhaupt nicht. Sie ist als die alte Lampe.

3. Ich bin nicht gut in Mathematik. Ich finde Mathe als Deutsch

4. Im Winter sind die Tage in Deutschland als die Néchte.

5. Ich sehe gern Fufiball im Fernsehen. Mein Bruder sieht Fufiball aber noch als ich.
6. Mein Bruder spielt gut Tennis, aber meine Schwester spielt noch als er.

7. In der A-Klasse sind 35 Schiiler es und ist als in der B-Klasse. Dort sind nur 22
Schiiler.

8. Kannst du heute einkaufen gehen? Du hast Zeit als ich

SECTION -D (KURSBUCH)

XI. Lies den Text und Antwort die Fragen:

Lehrer, Schiiler und Eltern probieren in vielen Schulen in Koln Alternativen zum bisherigen
Kantinenangebot und geben Noten von 1 bis 6 fiir Aussehen, Geschmack und Qualitdt der
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neuen Gerichte. Auf die Frage, wo es denn besser schmeckt, zu Hause oder in der Kantine,

sieht Testesser Robin Hormann in der Gesamtschule Rodenkirchen erst kurz zu seiner Mutter
Sandra. Sie ist auch Testesserin und vom neuen Schulessen positiv tiberrascht. ,Genauso gut
wie zu Hause”, sagt Robin dann, und seine Mutter lacht: , Er hat total recht!”

Jeder glaubt, dass Kinder und Jugendliche Pommes und Pizza lieben, also eher die fetten, nicht
sehr gesunden Gerichte. Aber das stimmt nicht. Auf den Fragebogen der Testesser sieht man,
dass gesunde Gerichte wie Karotten oder Kartoffelsuppe den Schiilern ebenso gut schmecken
wie Pommes oder Nudeln mit Sofle. Nur frisch miissen die Zutaten sein, gut gekocht und
schon serviert!

,Unser Essen soll immer besser werden”, sagt auch Rosemarie Gassner von der
Gutenbergschule. ,Da helfen uns die ehrlichen Antworten unserer Testesser sehr. Und fur
gutes Essen zahlen die meisten Eltern gern ein bisschen mehr nach dem Motto: , Lieber gut als
nur gilinstig.”

A. Antwort die folgenden Fragen: [5]
a. Welche Gerichte sind bei den Kindern und Jugendlichen bleibt?
b. Wo wird das Testessen gemacht?
c. Was machen die Testesser? Warum?
d. Wie konnen die Testesser dabei helfen?
B. Richtig oder falsch: [5]
. Kinder mogen keine Pommes und Pizza.

a
b. Kartoffelsuppe und Karotten Essen die Kinder und Jugendlichen nur ungern.

0

Frische zutaten spielen eine grofie Rolle im Geschmack der Gerichte.

o

Die Eltern sind bereit, fiir gutes Essen mehr Geld auszugeben.

e. Sandra sagt das Robin ist total recht.
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DELHI PUBLIC SCHOOL

SAIL TOWNSHIP, RANCHI
QUALIFING EXAMINATION (2021-2022)

Class: X Max Marks: 50
Subject: Information Technology Time: 2 Hrs.
General Instructions:

Section-A:10 multiple-type questions each of 1 mark, total 10X1=10 marks
Section-B: 12 questions, 11 have to attempted, each of 2 marks, total 11X2=22 marks
Section-C: 8 questions, 6 have to be attempted, each of 3 marks, total 6X3=18 marks

Section A: Objective Type (1X10=10)

Read the questions carefully and give the best answers from (a, b, c, d) to the questions.
1)Find in the following is NOT an element of communication within the

communication process cycle?
(a) Channel
(b) Receiver
(c) Sender
(d) Time
2) Which method of communication will you use to apply leave at work?
(a) e-mail
(b) Poster
(c) Newsletter
(d) Blog
3) What is the action of the senders to send their messages?
(a) Gestures
(b) Speaking
(c) Reading

(d) Writing
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4) Which of the list below is an example of oral communication?
(a) Newspapers
(b) Letters
(c) Phonecall
(d) e-mail
5) What are the types of words we should use for verbal communication?
(a) Acronyms
(b) Simple
(c) Technical
(d) Jargons
6) What is the use of e-mails?
(a) To communicate with many people at the same time.
(b) To share documents and files.
(c) To talk to each other in real-time.
(d) To keep a record of communication.
7) Which one is a positive/better facial expression?
(a) Frowning while concentrating
(b) Maintaining eye contact
(c) Smiling continuously
(d) Rolling up your eyes
8) What does an upright or straight body posture convey or show?
(a) Pride
(b) Professionalism
(c) Confidence

(d) Humility
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9) Which is NOT an appropriate non-verbal communication at work?
(a) Keeping hands in pockets while talking
(b) Talking at moderate speed
(c) Sitting straight
(d) Tilting head a bit to listen
10) Which of the following statement is true about communication?
(@) 50%of our communication is non-verbal
(b) 20%communication is done using body movements, face, arms, etc.
(c) 5%communication is done using voice, tone, pauses, etc.

(d) 7% of communication is done using words.

Section B: Subjective Type
Answer any 11 out of 12 (2X11=22)
11. Explain the importance of Feedback.

12. Write the importance of Stress and Stress Management.

13. Differentiate Between Interests and Abilities.

14. What are the disadvantages of Non-Verbal Communication?

15. How does yoga help to manage stress?

16. What is an Operating System? Give Examples.

17. Write a note on Communication Cycle.

18. Explain the three main barriers of effective communication?

19. Explain Parts of Speech and give examples of Active & Passive voice.
20. What are the importance and technique of Time-management?

21. How do internal and external motivation different?

22. What do you understand by setting goal? Explain.
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23.
24.
25.
26.
27.
28.
29.
30.

Section B: Subjective Type

Answer any 6 out of 8 (3X6=18)

What do you mean by Entrepreneur?

What are the principles of Sustainable Development?
Explain 7C’s of Communication?

How Entrepreneur helps in capital formation?

What are the benefits of Online Shopping?

Write about the types of Operating System.

Write uses of 5 input and output Devices with examples.

Explain 3 steps of Stress management.
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	Section 3 Grammer ( 15 MARKS)
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	Writing( 7 MARKS )
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